—

Y
?/ 1 “‘_:'
.'J‘,\;:- ]

T S =

S mE = W & A : e

\"‘\\ﬁ | VALVES 7. AN = y

\g Vet Qi \ e E f
= / -“‘ ll % \x { ‘-.\ o .‘.il iy

“
=
SN
SIS

\ = / /
== &Ny

y
&

TR
N TR
7 2.

A

A\
\




BALL VALVES | FLOATING ASME BALL VALVES

FLOATING
ASME

3/8" - 12”7 | Class 150 - Class 2500

Afloating ball valve is a valve with seats supported ball, that
is pushed by upstream pressure towards the downstream
seat to ensure sealing. The DN of the floating ball valves
range is limited by the capability of the seats material to
support the pressure, temperature and weight of the ball.

Live loaded packing

ISO 5211 Mounting flange

O-ring (Primary stem seal) packing in FKM (*)
Non-removable antistatic device

Cavity pressure balancing hole with valve in open position

Wide range of seats materials from —196 °C up to 343 °C (JC Therm)

Internal body ribs prevent ball from dropping in the event
that seats are destroyed by a fire

Spirometallic 316L + PTFE + graphite (body gasket *)

* Other options available



Materials aswe

AT LT I

1 Body A 216 Gr. WCB (C =< 0,25%) A 352 Gr. LCC A 351 Gr. CF8M

2 Body connector A 216 Gr. WCB (C =< 0,25%) A 352 Gr. LCC A 351 Gr. CF8M
8 Ball A 351 Gr. CF8M (DN 15: 25 A 479 Tp.316)
- - —_—

o= 4 Stem A 479 Tp.316
) Seat ring PTFE, PEEK, NYLON, DEVLON
6 Wrench Nodular Iron
7 Gland nut Zinc plated carbon steel AlS| 303 AlIS| 303
8 Disk spring Carbon St. E.N.P. Carbon St. E.N.P. Carbon St.
9 Stop plate Carbon St. AIS| 304 AIS| 304
10 Gland AlSI 303 AISI 316 AISI 316

—
—

Gland packing
Stem thrust seal 25% G.F. PTFE

AIS| 316L + PTFE + Graphite
Stop pin Carbon St. Stainless St. Stainless St.
Stud A 193 Gr. B7M Zinc dichromate A 193 Gr. L7M A 193 Gr. B8M
16 Bolt DIN 933 5.6 Zinc plated DIN 933 A2 DIN 933 A2
17 Washer Zinc plated carbon steel AIS| 304 AIS| 304

25% G.F. PTFE
Stainless St.

Graphite

—
N

Body connector seal

Thrust washer

Antistatic device
Nut A 194 Gr. 7M
Stem bushing (DN 25 to 200) 25% G.F. PTFE
Spacer (DN 40 to 200) Carbon St. AIS| 304 AIS| 304
AlSI-304 AIS| 304 AIS| 304

A 194 Gr. 8M

A 194 Gr. 2HM Zinc dichromate

Washer
“0" Ring FKM

Identification plate Stainless St.




2 JG

BALL VALVES | FLOATING ASME BALL VALVES VALVES

ASME 515 /530 Class 150/300 | FullBore |

M |

%

nx@s

25

2T
%]
P

I1SO 5211

14

PN50 (Class 300) PTFE SEATS
8"t 12"

PN20 (Class 150) For A216 Gr. WCB only.

204 For other materials consult ASME B16.34
10+
0 ; ; ; ; ; ‘ — Temp’c
-40 5} 50 95 140 185 230 275

Fig. 515 (Class 150)

IS 2 S A0 T 22 S A K 7 B

15 (*%") 15 108 60,3 4x15,9 110 164 FO5 11,2 5,7 M12x1.5 9 20
20 (34") 20 117 50 69,9 4x15,9 100 117 164 FO5 13,2 9,2 M12x1.5 9 3 10 40
25 (1") 25 127 52 79,4 4x15,9 110 129 164 FO5 22,7 10,2 M12x1.5 9 35 15 75
40 (1 %") 40 165 65 98,4 4x15,9 125 148 213 FO7 41,5 19,2 M18x1.5 13 8 25 170
50 (2") 50 178 61 120,7 4x19 150 155 213 FO7 41,5 19,2 M18x1.5 13 11 40 270
65 (2 ¥2") 65 190 75 139,7 4x19 180 169 348 FO7 44 19,7 M22x1.5 16 16 60 550
80 (3" 80 203 79 152,4 4x19 190 207 445 F10 44,5 19,7 M25x1.5 18 23 90 1000
100 (4”) 100 229 90 190,5 8x19 230 231 495 F10 56,5 29,2 M28x1.5 20 38 150 1650
150 (6”) 151 394 174 241,3 8x22,2 280 298 698 F12 68 38,5 M40x1.5 29 88 250 4200
200 (8") 203 457 200 298,5 8x22,2 345 352 868 F14 72 ) M45x2 32 155 700 9000

Fig. 530 (Class 300)
1 e B 1 2

15 (%) 15 140 60 66,7 4x15,9 95 110 164 FO5 11,2 8,7 M12x1.5 9

20 (3") 20 152 65 82,6 4x19 115 117 164 FO5 13,2 9,2 M12x1.5 9 4 16 40

25(1") 25 165 70 88,9 4x19 125 129 164 FO5 22,7 10,2 M12x1.5 9 8] 20 75

40 (1%2") 40 190 80 114,3 4x22,2 155 148 213 FO7 41,5 19,2 M18x1.5 113 11 B 170
50 (2") 50 216 83 127 8x19 165 155 213 FO7 41,5 19,2 M18x1.5 113 14 55 270
80 (3") 80 283 118 168,3 8x22,2 210 207 445 F10 44,5 19,7 M25x1.5 18 82 150 1000
100 (4™) 100 305 133 200 8x22,2 255 231 495 F10 56,5 29,2 M28x1.5 20 52 230 1650
150 (6”) 151 403 160 269,9 12x22,2 320 298 698 F12 68 38,5 M40x1.5 29 94 342 4200

(*) Dimensions in mm, weight in kg and Torque in Nm.
(**) Weights and dimensions can be changed without notice.



